Amazing! Solution

It's possible to cut out and assemble the pieces, which form a Szilassi polyhedron, a 7-sided solid with a hole and in
which each face borders every other face, but it is also quite possible to use the letters as guides and solve the
puzzle without cutting it at all.

The solution path travels through each face of the polyhedron once, returning to its starting face in the end.

The paths form a letter shape on each face besides the start/end one. You have to figure out the correct orientations.

In path order they spell BARREL, the answer.
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